


FS| FHED (FH) S (FH BREBHR (FH) BE| EB A
1 11011700014 YA SH11%45 7 |0.05

2 (11000100402 FM180.105 PEBE 6 4 ]0.03

3 |11000100400 FM180.105 TEEEE 12 4 |0.07

4 11010300017 FM180.113 ME 4 0.009

5 11000200973 FM180.016 RERESH 2 7.59

6 (14000200001 SHEMBX1 4  0.004

7 [11000100401 FM180.105 TR 32 4 0.18

8 FM180.125 BB R 4 414

9 14010100051 GB/T 5783-2000 7RASLIREM 1090 6 0.067 |M10x90
10 14020000007 GBIT 93-1987 10 6 [0.002 [10x2.6
11 14040000003 GBIT 95-2002 SEEE 102 44 |0.003 [10x2

12 |14010100039 GBIT 5783-2000 A SKIREMA10%25 5 10.026 [M10x25
13 11011800015 FM180.111 BRE 3 |8.47

14 GB/T 808-1988 PREBRATIRS 3 M24x1.5
15 {14020000014 GBIT 93-1987 B4 3 24x6

16 {11000200970 FM180.013 NNEHERESH 2 1075

17 14030000006 GBIT 1096-1979 BB FEs*25 3 8x25

18 FM120.012 T ERK 3  [2.73

19 WRHER 1

20  |14010100040 GB/T 5783-2000 A SLIREM10%30 16 |0.030 |M10x30
21 |14050100003 GB/T 889.1-2000  |BFFAERM10 17 ]0.009

22 |11010200025 FM120.101 TR 3 |0.90

23 FM120.011 NERSH 1 46.09

24 |14040000014 GBIT 95-2002 SEELVE 18%3 5 18x3

25 (14050100014 GB/T 889.1-2000  [BF#AER—M18 2 M18

26  [14010100016 GB/T 5783-2000 RESLIBRME*16 4 10.012 |M8x16
27  |14040000002 GBIT 95-2002 SEHEE 8x1.6 4  |0.002 |8x1.6
28  [11000000444 FM120.103 ERTRE 1 2.581

29  |14020000006 GBI/T 93-1987 g 4  |0.001 [8x2.1

30 |11000200982 FM180.014 DEHRESH-XNAE 1 1.33

31 (11011800082 FM180.104 BIRE F 2  |28.07

32 11011300011 GBIT11544-97 B B61 2 |0.29

33 [14010100127 GBIT 5781-2000 755 L1842 (M18)x60 2 (M18)x60
34 [11000000443 FM120.102 ERWE 1 2.581

35 [14050100007 GB/T 889.1-2000  [BAHME—M14 7  [0.020

36  [14040000005 GBI/T 95-2002 SERE 14x2.5 14 |0.008 |14x2.5
37  |11000000445 FM120.107 JEHF 2 |2.025

38  |11000100405 FM180.109 BERE 1

39  |11000000338 FM180.106 [IE %R 2  |2.54

40  |14010100082 GB/T 5780-2000 <A 3LIRM14*100 1 (M14)x100
41 |11000000339 FM180.110 FEAR 1 1.34

42 111011700003 EF175.119 LR 1

43 |14010100090 GBIT 5783-2000 SE KR M14%40 4 0.075 [(M14)x40
44 111000100320 LG180.105 TEER 2 |0.511

45 111000200983 FM150.019 TRAREEH 2 1.77

46 |11000000451 FM120.112 HED 1 4.742

47 14010100093 GB/T 5783-2000 738K R M14%50 2 10.087 [(M14)x50
48  |14000200000 S M6 3  10.003

49 Created with novaPDF Printer (www.novaPDF.com). Please register to remove this message. |3 M18




